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The error in his Formula i3 of ke order h’

Tn ¢his me#hod we approximaled the funclion fia)

in each sub-interval as a sjpraight line amd Lhea
a Lle source of Ahe error.

-~ To minimise Lht error We can skl use tha

frapezoidal metod bul We have Lo decrease the
Vnd'u:_ of h

We can Mink in another me thoo wWhich is
~approximation of Hhe Lunclion Flx) as
order formula waing lhree poinks ins
fwo  poinks by a shraight Aine .

oo T st slide il e
(Ko, ¥0) ( Hivdy) , (X2, e)

Scanned with CamScanner



Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




